NEUTRAL EQUATIONS WITH POLYNOMIAL NONLINEARITIES ARISING IN TRANSMISSION LINES

Vasil Angelov

University of Mining and Geology "St. Ivan Rilski" Sofia 1700, Bulgaria E-mail: angelov@staff.mgu.bg

ABSTRACT: An existence theorem for neutral equations with polynominal nonlinearities is proved.

INTRODUCTION

It is known that in the theory of nonlinear circuits V-I characteristic curve can be approximated by various nonlinear functions (cf. [1]-[3]) - polynoms, exponential functions, hyperbolic functions and their combinations. In [4]-[7] the authors in their endevour to investigate the lossless transmission lines considers the hyperbolic system

$$\frac{\partial u}{\partial x} = -L \frac{\partial i}{\partial t} \quad \mathsf{M} \quad \frac{\partial i}{\partial x} = -C \frac{\partial u}{\partial t}, \tag{1}$$

where i = i(t, x), u = u(t, x) are the current and the voltage respectively, while *L* is the series inductance, and *C* is the parallel capacitance per unit length of the line. The line is shorted at x = 0 which implies u(0,t) = 0 and it is connected with a nonlinear element (for instance tunnel diode) at x = l (*l* is the length of the line), that is, i(l,t) = f(u(l,t) + E), where *E* is the bias voltage, and I = f(V) is the V - I characteristic curve. In many cases f(V) is third degree polynom of the type $f(V) = -aV + V^3$ (cf. [4]-[7]) or polynom of higher order [1], [2]. If the parallel capacitance C_0 is considered in the circuit the above boundary value condition becomes

$$i(l,t) = f(u(l,t) + E) + C_0 \frac{\partial u(l,t)}{\partial t} \ . \label{eq:ill}$$

Then the mixed initial-boundary problem for system (1) can be replaced by a pure initial value problem for a functional differential equation of neutral type ([4]-[7]) while in the first one obtains only functional equations. The general theory of neutral equations can be found in [8]-[11] but the polynomial nonlinearities only in particular cases are considered [4]-[7].

The main purpose of the present paper is to formulate conditions for the existence and uniqueness of solutions of

neutral functional differential equations with polynomial nonlinearities in the right-hand sides in general case. Our investigations are based on fixed point approach obtained in [12]-[13].

Let us consider an initial value problem for the neutral functional differential equation of first order

$$\dot{u}(t) = F(u(\Delta_1(t)), ..., u(\Delta_m(t), \dot{u}(\gamma_1(t), ..., \dot{u}(\gamma_n(t)), t > 0))$$
$$u(t) = \phi(t), \dot{u}(t) = \dot{\phi}(t), t \le 0$$
(2)

where $F(u_1,...,u_m,v_1,...,v_n): \mathbb{R}^{m+n} \to \mathbb{R}^1$,

$$\varphi(t), \dot{\varphi}(t) : R^1_- \to R^1, R^1_+ = [0, \infty), R^1_- = (-\infty, 0]$$

$$\Delta_i(t): R^1_+ \to R^1 \ (i = 1, 2, ..., m)$$

 $\gamma_k(t): R^1_+ \to R^1 \ (k = 1, 2, ..., n)$ are prescribed functions.

Usually when one look for global solution of (2) F has to satisfy the condition of the type

$$|F(u_1,...,u_m,v_1,...,v_n)| \le a \left[\sum_{k=1}^m |u_k| + \sum_{s=1}^n |v_s| \right]$$
(3)

Our goal is to include in the consicleration the right-hand sides of general type:

$$F(u_1,...,u_m,v_1,...,v_n) = \sum_{s=1}^{k_1} a_s^{(1)} u_1^s + \sum_{s=1}^{k_2} a_s^{(2)} u_2^s + ...$$
$$+ \sum_{s=1}^{k_m} a_s^{(m)} u_m^s + \sum_{k=1}^{n} b_k v_k$$
(4)

where $a, a_s^{(l)}, b_k$ are prescribed constants.

The equations obtained in [4] - [7] are particular cases of (4):

$$C_0[\dot{u}(t) + K\dot{u}(t-h)] + \left(\frac{1}{z} - g\right)u(t) - K\left(\frac{1}{z} + g\right)u(t-h) = -u^3(t) - Ku^3(t-h),$$

where $C_0, K, \frac{1}{z}, g$ and h are prescribed constants.

EXISTENCE THEOREM

As usually we put $y(t) = \dot{u}(t)$ for t > 0 and $\psi(t) = \dot{\varphi}(t)$ for $t \le 0$. Then (2) becomes assuming $y(0) = \varphi(0) = 0$):

$$y(t) = F\left(\int_{0}^{\Delta_{1}(t)} y(s)ds, ..., \int_{0}^{\Delta_{m}(t)} y(s)ds, y(\gamma_{1}(t)), ..., y(\gamma_{n}(t))\right), t > 0$$

$$y(t) = \psi(t), t \le 0.$$
 (5)

Indeed $y(t-t_0) = u(t) - \varphi_0 - \varphi_0'(t-t_0)$ satisfies Condition

s
$$y(0) = y(t_0 - t_0) = u(t_0) - \varphi_0 = 0$$
 and

$$y'(0) = u'(t_0) - \varphi'_0 = 0 (u(t_0) = \varphi_0, u'(t_0) = \varphi'_0).$$

Theorem 1. Let the following conditions be fulfilled: Functions

$$\Delta_i(t), \gamma_k(t) : R^1_+ \to R^1 \ (i = 1, ..., m; k = 1, ..., n)$$

are continuous and $\Delta_i(0) \leq 0$, $\gamma_k(0) \leq 0$, and

$$t - \Delta_i(t) \ge \Delta_0 > 0$$
, $t - \gamma_k(t) \ge \gamma_0 > 0$

where Δ_0 and $\gamma_0 > 0$ are constants;

1.3 the function

1.1

1.2

$$F(u_1,...,u_m,v_1,...,v_n): \mathbb{R}^{m+n} \to \mathbb{R}^1$$

is continuous and satisfies the conditions:

1.3.1 $\psi(t) = \dot{\varphi}(t)$ is continuous and satisfies conformity condition

1.3.2

$$\psi(0) = F\left(\int_{0}^{\Delta_{1}(0)} \psi(s)ds, ..., \int_{0}^{\Delta_{m}(0)} \psi(s)ds, \psi(\gamma_{1}(0)), ..., \psi(\gamma_{n}(0))\right);$$

1.2.2
$$|F(u_1,...,u_m,v_1,...,v_n)| \le$$

1.2.3 $\le a_1 \left(\sum_{s=0}^{k_1} |u_1|^s + ... + \sum_{s=0}^{k_m} |u_m|^s \right) + a_2 \sum_{s=1}^{n} |v_s|,$

where a_1 and a_2 are positive constants;

1.2.3

$$|F(u_{1},...,u_{m},v_{1},...,v_{n})| - |F(\widetilde{u}_{1},...,\widetilde{u}_{m},\widetilde{v}_{1},...,\widetilde{v}_{n})| \leq \leq b_{1} \left(\sum_{s=1}^{k_{1}} |u_{1}^{s} - \widetilde{u}_{1}^{s}| + ... + \sum_{s=1}^{k_{m}} |u_{m}^{s} - \widetilde{u}_{m}^{s}| \right) + b_{2} \sum_{s=1}^{n} |v_{s} - \widetilde{v}_{s}|$$

Then (5) has a unique continuous solution.

Proof. Consider the set *X* of all continuous functions $f(t):[0,T_0] \rightarrow R^1$ which coincide with $\psi(t)$ for $t \le 0$.

Introduce a family of pseudometrics

$$\mathcal{A} = \left\{ \rho_{\lambda}(f, \tilde{f}) : \lambda \in [0, \infty) \right\}, \text{ where }$$

$$\rho_{\lambda}(f, \tilde{f}) = \sup \left\{ e^{-\lambda t} \mid f(t) - \tilde{f}(t) \mid t \in [0, T_0] \right\}.$$

Recall that for $t \le 0$ $f(t) = \psi(t)$ and $\tilde{f}(t) = \psi(t)$.

Then the set X endowed with the family \mathscr{A} becomes a uniform space (X, \mathscr{A}) .

Introduce the set

$$M = \{ f \in (X, \mathscr{A}) : | f(t) | \le A e^{\lambda t}, t \in [0, T_0] \}$$

where A is a fixed constant which does not depend on f.

It is easy to verify that (Tf)(t) is a continuous function on \mathbb{R}^1 .

First we show that the operator T defined by the right-hand side of (5) is contractive:

$$(Tf)(t) = \begin{cases} F\left(\int_{0}^{\Delta_{1}(t)} f(s)ds, \dots, \int_{0}^{\Delta_{m}(t)} f(s)ds, f(\gamma_{1}(t)), \dots, f(\gamma_{n}(t)) \right), t \in [0, T_{0}] \\ \psi(t), t \leq 0. \end{cases} \right)$$

Indeed for every $f, \tilde{f} \in M$ we have $t \in [0, T_0]$ for which $\Delta_k(t) > 0$:

$$|(Tf)(t) - (T\tilde{f}(t))| \le b_1 \left[\sum_{s=1}^{k_1} \left| \left(\int_0^{\Delta_1(t)} f(\tau) d\tau \right)^s - \left(\int_0^{\Delta_1(t)} \tilde{f}(\tau) d\tau \right)^s \right| + \dots + \sum_{s=1}^{k_m} \left| \left(\int_0^{\Delta_m(t)} f(\tau) d\tau \right)^s - \left(\int_0^{\Delta_m(t)} \tilde{f}(\tau) d\tau \right)^s \right| \right] + b_2 \sum_{s=1}^n |f(\gamma_s(t)) - \tilde{f}(\gamma_s(t))| \le b_2 \sum_{s=1}^n |f(\gamma_s(t) - \tilde{f}(\gamma_s(t))| \le b_2 \sum_{s=1}^n |f(\gamma_s(\tau) - \tilde{f}(\gamma_s(\tau))|$$

ANNUAL of University of Mining and Geology "St. Ivan Rilski", vol. 46(2003), part III, MECHANIZATION, ELECTRIFICATION AND AUTOMATION IN MINES

$$\begin{split} &\leq b_{1} \left[\sum_{s=1}^{k_{1}} \left| \int_{0}^{\lambda_{1}(t)} f(\tau) d\tau - \int_{0}^{\lambda_{1}(t)} \tilde{f}(\tau) d\tau \right|_{s} \left| \int_{0}^{\lambda_{1}(t)} \tilde{f}(\tau) d\tau \right|_{s}^{s-1} + \ldots + \\ &+ \sum_{s=1}^{k_{m}} \left| \int_{0}^{\lambda_{m}(t)} f(\tau) d\tau - \int_{0}^{\lambda_{m}(t)} \tilde{f}(\tau) d\tau \right|_{s} \left| \int_{0}^{\lambda_{m}(t)} \tilde{f}(\tau) d\tau \right|_{s}^{s-1} + \\ &+ b_{2} \sum_{s=1}^{n} e^{-\lambda \gamma_{s}(t)} |f(\gamma_{s}(t)) - \tilde{f}(\gamma_{s}(t))| e^{\lambda \gamma_{s}(t)} \leq \\ &\leq b_{1} \left[\sum_{s=1}^{k_{1}} sA^{s-1} \right|^{\lambda_{1}(t)} d\tau d\tau \right|^{s-1} \left| \int_{0}^{\lambda_{m}(t)} f(\tau) - \tilde{f}(\tau) |e^{-\lambda \tau} e^{\lambda \tau} d\tau \right| + \ldots \\ &+ \sum_{s=1}^{k_{m}} sA^{s-1} \left| \int_{0}^{\lambda_{m}(t)} d\tau d\tau \right|^{s-1} \left| \int_{0}^{\lambda_{m}(t)} f(\tau) - \tilde{f}(\tau) |e^{-\lambda \tau} e^{\lambda \tau} d\tau \right| + \\ &+ b_{2} \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda \gamma_{s}(t)} \leq \\ &\leq b_{1} \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda \gamma_{s}(t)} \leq (k = \max\{k_{1}, k_{2}, \ldots, k_{m}\}) \\ &\leq b_{1} \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda \gamma_{s}(t)} \leq (k = \max\{k_{1}, k_{2}, \ldots, k_{m}\}) \\ &\leq b_{1} \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda \tau_{s}(t)} \leq (k = \max\{k_{1}, k_{2}, \ldots, k_{m}\}) \\ &\leq b_{1} \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda t + \lambda \gamma_{s}(t)} e^{\lambda t} \leq \\ &\leq \rho_{\lambda}(f, \tilde{f}) \sum_{s=1}^{n} e^{-\lambda t + \lambda \gamma_{s}(t)} e^{\lambda t} \leq \\ &\leq \rho_{\lambda}(f, \tilde{f}) \left[b_{1} \left(\sum_{s=1}^{k_{1}} sA^{s-1} e^{\lambda s} \left(\frac{e^{-\lambda t + \lambda \Lambda_{1}(t)}{\lambda} \right)^{s} + \ldots \right] \\ &+ \sum_{s=1}^{k_{s}} sA^{s-1} e^{\lambda s} \left(\frac{e^{-\lambda t + \lambda \gamma_{s}(t)}}{\lambda} \right)^{s} + \dots \\ &+ \sum_{s=1}^{k_{s}} sA^{s-1} e^{\lambda s} \left(\frac{e^{-\lambda t + \lambda \gamma_{s}(t)}}{\lambda} \right)^{s} + \dots \\ &+ \sum_{s=1}^{k_{s}} sA^{s-1} e^{\lambda s} \left(\frac{e^{-\lambda t + \lambda \gamma_{s}(t)}}{\lambda} \right)^{s} + e^{\lambda t} b_{2} e^{-\lambda \gamma_{s}}} \right] \right]. \end{split}$$

We multiply the previous inequality with $e^{-\lambda t}$ and then $e^{-\lambda t} | (Tf)(t) - (T\tilde{f}(t)) | \le$

$$\leq \rho_{\lambda}(f,\tilde{f}) \left[b_{1}m \sum_{s=1}^{k} sA^{s-1} \frac{e^{-\lambda \Delta_{0}s}}{\lambda^{s}} e^{\lambda(s-1)T_{0}} + nb_{2}e^{-\lambda \gamma_{0}} \right] \leq$$
$$\leq \rho_{\lambda}(f,\tilde{f}) \left[b_{1}m \frac{e^{-\lambda \Delta_{0}}}{\lambda} \sum_{s=1}^{k} s \left[\frac{Ae^{-\lambda \Delta_{0} + \lambda T_{0}}}{\lambda} \right]^{s-1} + nb_{2}e^{-\lambda \gamma_{0}} \right] \equiv$$

 $\equiv \rho_\lambda(f,\tilde{f})B(\lambda) \quad \Rightarrow \quad \rho_\lambda(Tf,T\tilde{f}) \leq B(\lambda)\rho_\lambda(f,\tilde{f}).$ For sufficiently large λ one can see that $B(\lambda) < 1$ provided $T_0 - \Delta_0 \leq 0$. This implies that T~ is contractive.

We show
$$f \in M \implies Tf \in M$$
. Indeed $(\Delta_k > 0)$:

$$\begin{split} |(Tf)(t)| &\leq a_{1} \left(\sum_{s=1}^{k_{1}} \left| \int_{0}^{\Delta_{1}(t)} f(\tau) d\tau \right|^{s} + \ldots + \sum_{s=1}^{k_{m}} \left| \int_{0}^{\Delta_{m}(t)} f(\tau) d\tau \right|^{s} \right) + \\ &+ a_{2} \sum_{s=1}^{n} |f(\gamma_{s}(t))| \leq \\ &\leq a_{1} \left(\sum_{s=1}^{k} A^{s} \left(\frac{e^{\lambda \Delta_{1}(t)} - 1}{\lambda} \right)^{s} e^{\lambda st} + \ldots + \sum_{s=1}^{k} A^{s} \left(\frac{e^{\lambda \Delta_{m}(t)} - 1}{\lambda} \right)^{s} e^{\lambda st} \right) + \\ &+ a_{2} e^{\lambda t} \sum_{s=1}^{n} e^{-\lambda t + \lambda \gamma_{s}(t)} A \leq \\ &\leq a_{1} m \sum_{s=1}^{k} \left(\frac{A}{\lambda} \right)^{s} \left(e^{-\lambda \Delta_{0} + \lambda T_{0}} \right)^{s} + a_{2} e^{\lambda t} A n e^{-\lambda \gamma_{0}} . \\ &\text{Multiply the last inequality } e^{-\lambda t} : \\ &e^{-\lambda t} |(Tf)(t)| \leq \\ &\leq a_{1} m \sum_{s=1}^{k} \left(\frac{A}{\lambda} \right)^{s} \left(e^{-\lambda \Delta_{0} + \lambda T_{0}} \right)^{s} e^{-\lambda t} + na_{2} A e^{-\lambda \gamma_{0}} \leq \end{split}$$

$$\leq a_1 m \sum_{s=1}^k \left(\frac{A}{\lambda}\right)^s \left(e^{-\lambda \Delta_0 + \lambda T_0}\right)^s + n a_2 A e^{-\lambda \gamma_0} \leq A,$$

which is always satisfied for sufficiently large λ and $T_0-\Delta_0\leq 0\,.$

In order to be satified all conditions of the fixed point theorem [12] we have to find such an element x_0 that

$$\rho_{j^k(\lambda)}(x_0, Tx_0) \le Q < \infty \ (k = 1, 2, ...)$$

Here the map $j: A \rightarrow A$ (cf. [12]) is $j(\lambda) = \lambda$. One can choose x_0

$$x_0(t) = \begin{cases} \psi(0), & t \ge 0\\ \psi(t), t \le 0 \end{cases}$$

+

ANNUAL of University of Mining and Geology "St. Ivan Rilski", vol. 46(2003), part III, MECHANIZATION, ELECTRIFICATION AND AUTOMATION IN MINES

Then we obtain

 $\rho_{i^k(\lambda)}(x_0, Tx_0) =$

 $= \sup \{ |\psi(0) - F(\Delta_1(t)\psi(0), ..., \Delta_m(t)\psi(0), \psi(0), ..., \psi(0))| e^{-\lambda t} : t \in [0, T_0] \} < \infty$

The last supremum exists because

$$|\Delta_i(t)| \le |t - \Delta_0|$$
 and consequently

$$e^{-\lambda t} \sum_{s=1}^{k_i} (|\Delta_i(t)| \psi(0))^s < \infty, \ (i = 1, 2, ..., m)$$

Therefore T has a unique fixed point [12], which is a solution of (5).

REFERENCE

- Matkhanov P. N. Analysis of electrical circuits-nonlinear circuits. *Visha schola*, Moscow, 1977 (in Russian).
- Andreev V. S., B.I. Popov, A.I. Fedorov, H.H. Fomin. Generators of harmonic oscillations with tunnel diodes. *Energia*, Moscow, 1972 (in Russian).
- Starr A. T., Radio and Radar Technique. I. Pitman&Sons, London, 1958.
- Nagumo J., M. Shimura. Self-oscillation in a Transmission Line with a Tunnel Diode. *Proceeding of the IRE, v.49,* (1961), 1281-1291.

- Shimura M. Analysis of Some Nonlinear Phenomens in a Transmission Line. *IEEE. Transactions on Circuit Theory*, v.14, N1, (1967), 60-68.
- Brayton R. K. Bifurcation of periodic solutions in a nonlinear difference-differential equations of neutral type. *Quarterly of Applied Mathematics. v.24, N3,* (1966), 215-224.
- Brayton R. K.Nonlinear oscillations in a distributed network. v.24, N4, (1968), 289-301.
- Hale J. K. Theory of functional differential equations, *Spinger Verlag*, 1977.
- Myshkis A. D. Linear differential equations with retarded argument, *Nauka*, Moscow, 1972 (in Russian).
- El'sgoltz L. E., S. B. Aiorkin, Introduction in the theory of differential equations with deviating argument. *Nayka*, Moscow, 1971 (in Russian).
- Kamenskii G. A., Skubachevskii A. L. Linear boundary value problems for differential-difference equations, Moscow, 1992 (in Russian).
- Angelov V. G. Fixed point theorem in uniform spaces and applications. *Czechoslovak Math. J., v.* 37 (112), (1987), 19-33.
- Angelov V. G.. On the Synge equations in a three-dimensional two-body problem of classical electrodynamics. J. Math. Anal. Appl., v.151, N2 (1990), 488-511.

Recommended for publication by Department of Mine Automation, Faculty of Mining Electromechanics